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Age in  Probability of Population alive on:

days surviving to age x '

x _ £ D0 CJan. 1l Jan.2 Jan.3 Jan.4 Jan.5 Jan. 6 ... Dec. 31
0 1.000 1,000 1,000 1,000 1,000 1,000 1,000 ... 1,000
1 - .970 970 970 970 970 970 ... 970
2 950 950 950 950 950 ... 950
3 946 | 946 946 946 ... ) 946
4 942 942 942 ... 042

364 0.900 | e 900
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Process State studied State entered State left when. .. Vertical dimension
when. .. of the table
Mortality ~ Being alive Born Die Duratxon of life
| (age)
Nuptiality Being unmarried  Bomn Marry Duration of single
(first marriage) | life (age)
Migration from Livingin Born Move to - Duration of
place of birth place of birth : another place residence (age)
Entering the Having never Bom First enter Duration of
labor force worked Jabor force life (age)
Becoming a Having no births ~ Born Have first Duration of
mother birth | life (age)
Subsequent Not having an Have a birth Have an Duration since
childbearing additional birth additional birth having a birth
Marital survival Beinginintact =  Marmry Marriage ends Duration of
marriage matriage
Unemployment Being unemployed Become Leave state of Duration of
spells | unemployed unemployment unemployment
Incarceration Being in jail Enter jail Leave jail Duration of

incarceration

2 Al of these processes can also be conceived as multiple decrement processes. Here we ignore other risks
of leaving the state of interest.
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